8H J0J3AKITR

SIS J0J5Lh% RiTs
1 = 10:30 7HO7IrO X8
2 |
3| K

10:10 RFLIAVF133a=0I=>7POYAMNYF FuLl
4 | K 11:10 Kby Hitomi
12:15 IFS—-h=-T Hitomi
5 | £
6 | T
7 = 16:30 (N2 & N E£5
8 B 12:30 5 MLEF=AERO (VR)
O | X
10| « i & H
10:10 RF1IAYF133=0I=>FOIANYF FuLl
10:20 FI7Y—Fyp 7D
1 1 x 11:10 NUbh> Hitomi
12:15 IFS—-h-0 Hitomi
12| &

13| = E=5hl{AEER

14| H E=5hl{AEER

15| A E=5hlAEER




SH 204 7Aﬁﬁ§§

B1J | il TG J0J5h% K&
12:00 FrLOS AL A Ben
13:15 (N2 & N A8
16| X 14:15 YL INR
15:15 UZSAAD B INR
20:35 N=3v93h {kiEk
17 | X
13:20 |[N\SYARI-F1%x—33a>=E5F71R #H
18 x 19:00 YY—-Y—Fvh =3
19 & 19:10 POWER=TOP Ride (VR)
20| £
12:00 ES571A %
21 H 13:05 7o h—7 iEi5
22 B 19:00 7o h—T g1
23 o, 19:30 HIHBTIARI VAN =— MEI
2 4 K 12:20 IFrS—-h-T g5
25| K
26 ﬁ 19:10 POWER=TOP Ride (VR)
27|
28 =) 12:30 UBOUND Miyu
29| A
30| X
31| X ik g B




